

# COMMON FIXED POINT OF MAPS IN COMPLETE PARTIAL METRIC SPACES

#### Shaban Sedghi\* and Nabiollah Shobkolaei

ABSTRACT. In this paper, we prove some common fixed point results for some mappings satisfying generalized contractive condition in complete partial metric space.

## 1. Introduction

In the last years, the extension of the theory of fixed point to generalized structures as cone metrics, partial metric spaces and quasi-metric spaces has received a lot of attention. One of the most interesting is partial metric space. Partial metric space is a generalized metric space in which each object does not necessarily have to have a zero distance from itself [10]. A motivation behind introducing the concept of a partial metric was to obtain appropriate mathematical models in the theory of computation and, in particular, give a modified version of the Banach contraction principle, more suitable in this context [10]. Subsequently, Valero [14], Oltra and Valero [12] and Altun et al [2] gave some generalizations of the result of Matthews. Romaguera [13] proved the Caristi type fixed point theorem on this space. The purpose of this paper is to present a general fixed point theorem for two pairs of mappings on two partial metric spaces satisfying implicit relations. Our result generalizes the main result from [7] and [11].

First, we recall some definitions and results needed in the sequel. The reader interested in fixed point theory in partial metric spaces is referred to the work of [1, 8, 10, 12, 13, 14] and references therein.

A partial metric on a nonempty set X is a mapping  $p: X \times X \to \mathbb{R}^+$  such that for all  $x, y, z \in X$ :

- (p<sub>1</sub>) x = y if and only if p(x, x) = p(x, y) = p(y, y),
- (p<sub>2</sub>)  $p(x, x) \le p(x, y)$ ,
- (p<sub>3</sub>) p(x, y) = p(y, x),
- (p<sub>4</sub>)  $p(x,y) \le p(x,z) + p(z,y) p(z,z)$ .

1

©2013 The Youngnam Mathematical Society

Received February 13, 2012; Accepted December 17, 2012.

<sup>2000</sup> Mathematics Subject Classification. Primary 54H25; Secondary 47H10.

Key words and phrases. Fixed point, partial metric.

<sup>\*</sup>Corresponding author.

A partial metric space is a pair (X, p) such that X is a nonempty set and p is a partial metric on X. It is clear that, if p(x, y) = 0, then from  $(p_1)$  and  $(p_2) x = y$ . But if x = y, p(x, y) may not be 0. A basic example of a partial metric space is the pair  $(\mathbb{R}^+, p)$ , where  $p(x, y) = \max\{x, y\}$  for all  $x, y \in \mathbb{R}^+$ . Other examples of the partial metric spaces which are interesting from a computational point of view may be found in [5] and [10].

Let (X, d) and (X, p) be a metric space and partial metric space, respectively.

**Lemma 1.** Mappings  $\rho_i : X \times X \longrightarrow \mathbb{R}^+$   $(i \in \{1, 2, 3\})$  defined by

$$\rho_1(x, y) = d(x, y) + p(x, y) 
\rho_2(x, y) = d(x, y) + \max\{\omega(x), \omega(y)\} 
\rho_3(x, y) = d(x, y) + a$$

define partial metrics on X, where  $\omega : X \longrightarrow \mathbb{R}^+$  is an arbitrary function and  $a \ge 0$ .

Each partial metric p on X generates a  $T_0$  topology  $\tau_p$  on X which has as a base the family of open p- balls

$$\{B_p(x,\varepsilon): x \in X, \varepsilon > 0\},\$$

where  $B_p(x,\varepsilon) = \{y \in X : p(x,y) < p(x,x) + \varepsilon\}$  for all  $x \in X$  and  $\varepsilon > 0$ .

A sequence  $\{x_n\}$  in a partial metric space (X, p) is said to (i) converge to a point  $x \in X$  if and only if  $p(x, x) = \lim_{n \to \infty} p(x, x_n)$  (ii) Cauchy sequence if there exists  $\lim_{n,m\to\infty} p(x_n, x_m)$  which is is finite.

A partial metric space (X, p) is said to be complete if every Cauchy sequence  $\{x_n\}$  in X converges, with respect to  $\tau_p$ , to a point  $x \in X$  such that  $p(x, x) = \lim_{n,m\to\infty} p(x_n, x_m)$ .

Suppose that  $\{x_n\}$  is a sequence in partial metric space (X, p), then we define  $L(x_n) = \{x | x_n \longrightarrow x\}$ .

The following example shows that every convergent sequence  $\{x_n\}$  in a partial metric space X may not be Cauchy. In particular, it shows that the limit of a convergent sequence is not unique.

**Example 1.** Let  $X = [0, \infty)$  and  $p(x, y) = \max\{x, y\}$ . Let

$$x_n = \begin{cases} 0, & n = 2k, \\ 1, & n = 2k+1. \end{cases}$$

Then clearly it is convergent sequence and for every  $x \ge 1$  we have  $\lim_{n\to\infty} p(x_n, x) = p(x, x)$ , therefore  $L(x_n) = [1, \infty)$ . But  $\lim_{n,m\to\infty} p(x_n, x_m)$  does not exist.

The following Lemma shows that under certain conditions the limit is unique.

**Lemma 2.** Let  $\{x_n\}$  be a convergent sequence in partial metric space X such that  $x_n \longrightarrow x$  and  $x_n \longrightarrow y$ . If

$$\lim_{n \to \infty} p(x_n, x_n) = p(x, x) = p(y, y),$$

then x = y.

Proof. As

$$p(x,y) \le p(x,x_n) + p(x_n,y) - p(x_n,x_n)$$

therefore

 $p(x_n, x_n) \le p(x, x_n) + p(x_n, y) - p(x, y).$ 

By given assumptions, we have  $\lim_{n\to\infty} p(x_n, x) = p(x, x)$ ,  $\lim_{n\to\infty} p(x_n, y) = p(y, y)$ , and  $\lim_{n\to\infty} p(x_n, x_n) = p(x, x)$ . Therefore

 $p(x,x) \le p(x,x) + p(y,y) - p(x,y)$ 

which shows that  $p(y, y) \le p(x, y) \le p(y, y)$ . Also,

$$p(x,y) \le p(y,x_n) + p(x_n,x) - p(x_n,x_n)$$

implies that

$$p(x_n, x_n) \le p(y, x_n) + p(x_n, x) - p(x, y)$$

which on taking limit as  $n \to \infty$  gives

$$p(y,y) \le p(y,y) + p(x,x) - p(x,y)$$

and

$$p(x,x) \le p(x,y) \le p(x,x)$$
 Thus  $p(x,x) = p(x,y) = p(y,y)$ , therefore  $x = y$ .

**Lemma 3.** Let  $\{x_n\}$  and  $\{y_n\}$  be two sequences in partial metric space X such that

$$\lim_{n \to \infty} p(x_n, x) = \lim_{n \to \infty} p(x_n, x_n) = p(x, x),$$

and

$$\lim_{n \to \infty} p(y_n, y) = \lim_{n \to \infty} p(y_n, y_n) = p(y, y),$$

 $\lim_{n \to \infty} p(y_n, y) = \lim_{n \to \infty} p(y_n, y_n) = p(y, y),$ then  $\lim_{n \to \infty} p(x_n, y_n) = p(x, y).$  In particular,  $\lim_{n \to \infty} p(x_n, z) = p(x, z)$  for every  $z \in X$ .

*Proof.* As  $\{x_n\}$  and  $\{y_n\}$  converge to a  $x \in X$  and  $y \in X$  respectively, therefore for each  $\epsilon > 0$  there exist  $n_0 \in \mathbb{N}$  such that

$$p(x, x_n) < p(x, x) + \frac{\epsilon}{2}, \ p(y, y_n) < p(y, y) + \frac{\epsilon}{2}, \ p(x, x_n) < p(x_n, x_n) + \frac{\epsilon}{2}$$
  
and  
 $p(y, y_n) < p(y_n, y_n) + \frac{\epsilon}{2}$ 

$$p(y, y_n) < p$$

for  $n \ge n_0$ . Now

$$\begin{aligned} p(x_n, y_n) &\leq p(x_n, x) + p(x, y_n) - p(x, x) \\ &\leq p(x_n, x) + p(x, y) + p(y, y_n) - p(y, y) - p(x, x) \\ &< p(x, y) + \frac{\epsilon}{2} + \frac{\epsilon}{2} = p(x, y) + \epsilon, \end{aligned}$$

and so we have

$$p(x_n, y_n) - p(x, y) < \epsilon.$$

Also,

$$p(x,y) \leq p(x,x_n) + p(x_n,y) - p(x_n,x_n) \\ \leq p(x,x_n) + p(x_n,y_n) + p(y_n,y) - p(y_n,y_n) - p(x_n,x_n) \\ < \frac{\epsilon}{2} + \frac{\epsilon}{2} + p(x_n,y_n) = p(x_n,y_n) + \epsilon$$

implies that

$$p(x,y) - p(x_n, y_n) < \epsilon.$$

Hence for all  $n \ge n_0$ , we have  $|p(x_n, y_n) - p(x, y)| < \epsilon$ . Hence the result follows.

**Lemma 4.** If p is a partial metric on X, then mappings  $p^s, p^m : X \times X \to \mathbb{R}^+$  given by

$$p^{s}(x,y) = 2p(x,y) - p(x,x) - p(y,y)$$

and

$$p^{m}(x,y) = \max \left\{ p(x,y) - p(x,x), p(x,y) - p(y,y) \right\}$$

define equivalent metrics on X.

*Proof.* It is easy to see that  $p^s$  and  $p^m$  are metrics on X. Obviously,

$$p^m(x,y) \le p^s(x,y)$$

for every  $x, y \in X$ . As for every positive real numbers a and b, we have  $a + b \le 2 \max\{a, b\}$ , therefore

$$p^{s}(x,y) = 2p(x,y) - p(x,x) - p(y,y) \\ \leq 2 \max \left\{ p(x,y) - p(x,x), p(x,y) - p(y,y) \right\} = 2p^{m}(x,y).$$

Hence

$$\frac{1}{2}p^s(x,y) \le p^m(x,y) \le p^s(x,y).$$

So  $p^s$  and  $p^m$  are equivalent.

**Lemma 5.** ([10], [12]) Let (X, p) be a partial metric space.

(a)  $\{x_n\}$  is a Cauchy sequence in (X, p) if and only if it is a Cauchy sequence in the metric space  $(X, p^s)$ .

(b) A partial metric space (X, p) is complete if and only if the metric space  $(X, p^s)$  is complete. Furthermore,  $\lim_{n \to \infty} p^s(x_n, x) = 0$  if and only if

$$p(x,x) = \lim_{n \to \infty} p(x_n,x) = \lim_{n,m \to \infty} p(x_n,x_m)$$

**Lemma 6.** If  $\{x_n\}$  is a convergent sequence in  $(X, p^s)$ , then it is a convergent sequence in the partial metric space (X, p).

*Proof.* As,  $\lim_{n\to\infty} p^s(x_n, x) = 0$ , and  $p(x_n, x_n) \leq p(x_n, x)$  for every n and  $x \in X$ , therefore

$$p(x_n, x) - p(x, x) \le p^s(x_n, x)$$

implies that

$$\limsup_{n \to \infty} p(x_n, x) - p(x, x) \le \lim_{n \to \infty} p^s(x_n, x)$$

and consequently,  $\lim_{n \to \infty} p(x_n, x) = p(x, x).$ 

## 2. Main results

**Theorem 1.** Let (X, p) be a complete partial metric space. Let  $S, T : X \longrightarrow X$  be two selfmappings. Suppose that there exists  $r \in [0, 1)$  such that

$$\max\{p(S(x), TS(x)), p(T(x), ST(x))\} \le r \min\{p(x, S(x)), p(x, T(x))\}$$
(2.1)

for every  $x \in X$  and that

$$\alpha(y) = \inf\{p(x, y) + \min\{p(x, S(x)), p(x, T(x))\} : x \in X\} > 0$$
(2.2)

for every  $y \in X$  with y is not a common fixed point of S and T. Then there exists  $z \in X$  such that z = S(z) = T(z). Moreover, if v = S(v) = T(v), then p(v,v) = 0.

*Proof.* Let  $x_0 \in X$  be arbitrary and define a sequence  $\{x_n\}$  by

$$x_n = S(x_{n-1}), \text{ if } n \text{ is odd}$$
  
=  $T(x_{n-1}), \text{ if } n \text{ is even.}$ 

Then if  $n \in \mathbb{N}$  is odd, we have

$$p(x_n, x_{n+1}) = p(S(x_{n-1}), T(x_n))$$
  
=  $p(S(x_{n-1}), TS(x_{n-1}))$   
 $\leq \max\{p(S(x_{n-1}), TS(x_{n-1})), p(T(x_{n-1}), ST(x_{n-1}))\}$   
 $\leq r \min\{p(x_{n-1}, S(x_{n-1})), p(x_{n-1}, T(x_{n-1}))\}, by (2.1)$   
 $\leq rp(x_{n-1}, S(x_{n-1}))$   
=  $rp(x_{n-1}, x_n).$ 

If n is even, then by (2.1), we have

$$p(x_n, x_{n+1}) = p(T(x_{n-1}), S(x_n))$$
  
=  $p(T(x_{n-1}), ST(x_{n-1}))$   
 $\leq max\{p(T(x_{n-1}), ST(x_{n-1})), p(S(x_{n-1}), TS(x_{n-1}))\}$   
 $\leq r min\{p(x_{n-1}, T(x_{n-1})), p(x_{n-1}, S(x_{n-1}))\},$   
 $\leq rp(x_{n-1}, T(x_{n-1}))$   
=  $rp(x_{n-1}, x_n).$ 

Thus for any positive integer n, it must be the case that

$$p(x_n, x_{n+1}) \le rp(x_{n-1}, x_n).$$
(2.3)

By repeated application of (2.3), we obtain

$$p(x_n, x_{n+1}) \le r^n p(x_0, x_1).$$

Also, we have

$$p(x_n, x_n) \le p(x_n, x_{n+1}) \le r^n p(x_0, x_1)$$

and

$$p(x_{n+1}, x_{n+1}) \le p(x_n, x_{n+1}) \le r^n p(x_0, x_1).$$

So, if m > n, then

$$p(x_n, x_m) \leq p(x_n, x_{n+1}) + p(x_{n+1}, x_{n+2}) + \dots + p(x_{m-1}, x_m)$$
  
$$\leq [r^n + r^{n+1} + \dots + r^{m-1}]p(x_0, x_1)$$
  
$$\leq \frac{r^n}{1 - r} p(x_0, x_1).$$

By definition,

$$p^{s}(x_{n}, x_{m}) = 2p(x_{n}, x_{m}) - p(x_{m}, x_{m}) - p(x_{n}, x_{n})$$
  
 $\leq 4 \frac{r^{n}}{1 - r}.$ 

Thus  $\lim_{n,m\to\infty} p(x_n, x_m) = 0$ . That is  $\{x_n\}$  is a Cauchy sequence in the metric space  $(X, p^s)$ . Since (X, p) is complete then from Lemma 5, the sequence  $\{x_n\}$  converges in the metric space  $(X, p^s)$ , say  $\lim_{n \to \infty} p^s(x_n, z) = 0$ . Again from Lemma 5, we have

$$p(z,z) = \lim_{n \to \infty} p(x_n,z) = \lim_{n,m \to \infty} p(x_n,x_m) = 0.$$

Assume that z is not a common fixed point of S and T. Then by hypothesis

$$0 < \inf\{p(x, z) + \min\{p(x, S(x)), p(x, T(x))\} : x \in X\} \leq \inf\{p(x_n, z) + \min\{p(x_n, S(x_n)), p(x_n, T(x_n))\} : n \in \mathbb{N}\} \leq \inf\left\{\frac{r^n}{1 - r}p(x_0, x_1) + p(x_n, x_{n+1}) : n \in \mathbb{N}\right\} \leq \inf\left\{\frac{r^n}{1 - r}p(x_0, x_1) + r^n p(x_0, x_1) : n \in \mathbb{N}\right\} = 0$$

which is a contradiction. Therefore, z = S(z) = T(z). If v = S(v) = T(v) for some  $v \in X$ , then

$$\begin{array}{lll} p(v,v) &=& \max\{p(S(v),TS(v)),p(T(v),ST(v))\}\\ &\leq& r\min\{p(v,S(v)),p(v,T(v))\}\\ &=& r\min\{p(v,v),p(v,v)\}\\ &=& rp(v,v) \end{array}$$

which gives that, p(v, v) = 0.

**Example 2.** Let (X, p) is a partial metric space where  $X = \{\frac{1}{n}\}_{n=1}^{\infty} \cup \{0\}$  and  $p(x, y) = \max\{x, y\}$ . If define  $S : X \longrightarrow X$  by S(0) = 0,  $S(\frac{1}{2n}) = \frac{1}{4n+3}$ ,  $S(\frac{1}{2n-1}) = 0$  and T(0) = 0,  $T(\frac{1}{2n-1}) = \frac{1}{4n+4}$  and  $T(\frac{1}{2n}) = 0$ . Then for  $x = \frac{1}{2n}$  we have

$$\begin{aligned} \max\{p(S(x), TS(x)), p(T(x), ST(x))\} \\ &= \max\{p(S(\frac{1}{2n}), T(S(\frac{1}{2n}))), p(T(\frac{1}{2n}), S(T(\frac{1}{2n})))\} \\ &= \max\{\frac{1}{4n+3}, 0\} = \frac{1}{4n+3} \\ &\leq r \min\{p(x, S(x)), p(x, T(x))\} = r \min\{\frac{1}{2n}, \frac{1}{2n}\} = r\frac{1}{2n}. \end{aligned}$$

It is easy to see that the above inequality is true for  $x = \frac{1}{2n-1}$  and  $r = \frac{1}{2}$ . Also,

$$\alpha(y) = \inf\{p(x, y) + \min\{p(x, S(x)), p(x, T(x))\} : x \in X\} > 0$$
(2.4)

for every  $y \in X$  with y is not a common fixed point of S and T for  $\frac{1}{3} \leq r < 1$ . These shows that the all conditions of Theorem 1 are satisfied and 0 is a fixed point for S, T.

**Corollary 1.** Let (X, p) be a complete partial metric space and let  $T : X \longrightarrow X$  be a mapping. Suppose that there exists  $r \in [0, 1)$  such that

$$p(T(x), T^2(x)) \le rp(x, T(x))\}$$

for every  $x \in X$  and that

$$\alpha(y) = \inf\{p(x, y) + p(x, T(x)) : x \in X\} > 0$$

for every  $y \in X$  with  $y \neq T(y)$ . Then there exists  $z \in X$  such that z = T(z). Moreover, if v = T(v), then p(v, v) = 0.

*Proof.* Taking S = T in Theorem 1, the conclusion of the Corollary follows. So Corollary 1 can be treated as a special case of Theorem 1.

**Theorem 2.** Let (X, p) be a complete partial metric space. Let S, T be mappings from X onto itself. Suppose that there exists r > 1 such that

$$\min\{p(TS(x), S(x)), p(ST(x), T(x))\} \ge r \max\{p(Sx, x), p(Tx, x)\}$$
(2.5)

for every  $x \in X$  and that

$$\alpha(y) = \inf\{p(x, y) + \min\{p(x, S(x)), p(x, T(x))\} : x \in X\} > 0$$
(2.6)

for every  $y \in X$  with y is not a common fixed point of S and T. Then there exists  $z \in X$  such that z = S(z) = T(z). Moreover, if v = S(v) = T(v), then p(v, v) = 0.

*Proof.* Let  $x_0 \in X$  be arbitrary. Since S is onto, there is an element  $x_1$  satisfying  $x_1 \in S^{-1}(x_0)$ . Since T is also onto, there is an element  $x_2$  satisfying  $x_2 \in T^{-1}(x_1)$ . Proceeding in the same way, we can find  $x_{2n+1} \in S^{-1}(x_{2n})$  and  $x_{2n+2} \in S^{-1}(x_{2n+1})$  for  $n = 1, 2, 3, \cdots$ . Therefore,  $x_{2n} = S(x_{2n+1} \text{ and } x_{2n+1} = S(x_{2n+2} \text{ for } n = 0, 1, 2, \cdots)$ . If n = 2m, then using (2.4)

$$p(x_{n-1}, x_n) = p(x_{2m-1}, x_{2m})$$

$$= p(Tx_{2m}, Sx_{2m+1})$$

$$= p(TSx_{2m+1}, Sx_{2m+1})$$

$$\geq \min\{p(TS(x_{2m+1}), S(x_{2m+1})), p(ST(x_{2m+1}), T(x_{2m+1}))\}$$

$$\geq r \max\{p(Sx_{2m+1}, x_{2m+1}), p(Tx_{2m+1}, x_{2m+1})\}$$

$$\geq rp(Sx_{2m+1}, x_{2m+1})$$

$$= rp(x_{2m}, x_{2m+1})$$

$$= rp(x_n, x_{n+1}).$$

If n = 2m + 1, then using (2.4)

$$p(x_{n-1}, x_n) = p(x_{2m}, x_{2m+1})$$
  

$$= p(Sx_{2m+1}, Tx_{2m+2})$$
  

$$= p(STx_{2m+2}, Tx_{2m+2})$$
  

$$\geq \min\{p(TS(x_{2m+2}), S(x_{2m+2})), p(ST(x_{2m+2}), T(x_{2m+2}))\}$$
  

$$\geq r \max\{p(Sx_{2m+2}, x_{2m+2}), p(Tx_{2m+2}, x_{2m+2})\}$$
  

$$\geq rp(Tx_{2m+2}, x_{2m+2})$$
  

$$= rp(x_{2m+1}, x_{2m+2})$$
  

$$= rp(x_n, x_{n+1}).$$

Thus for any positive integer n, it must be the case that

$$p(x_{n-1}, x_n) \ge rp(x_n, x_{n+1})$$

which implies that,

$$p(x_n, x_{n+1}) \le \frac{1}{r} p(x_{n-1}, x_n) \le \dots \le (\frac{1}{r})^n p(x_0, x_1).$$
 (2.7)

Let  $\alpha = \frac{1}{r}$ , then  $0 < \alpha < 1$  since r > 1. Now, (2.6) becomes

$$p(x_n, x_{n+1}) \le \alpha^n p(x_0, x_1).$$

Also, we have

$$p(x_n, x_n) \le p(x_n, x_{n+1}) \le \alpha^n p(x_0, x_1)$$

and

$$p(x_{n+1}, x_{n+1}) \le p(x_n, x_{n+1}) \le \alpha^n p(x_0, x_1).$$

So, if m > n, then

$$p(x_n, x_m) \leq p(x_n, x_{n+1}) + p(x_{n+1}, x_{n+2}) + \dots + p(x_{m-1}, x_m)$$
  
$$\leq [\alpha^n + \alpha^{n+1} + \dots + \alpha^{m-1}]p(x_0, x_1)$$
  
$$\leq \frac{\alpha^n}{1 - \alpha} p(x_0, x_1).$$

By definition,

$$p^{s}(x_{n}, x_{m}) = 2p(x_{n}, x_{m}) - p(x_{m}, x_{m}) - p(x_{n}, x_{n})$$
  
 $\leq 4\frac{\alpha^{n}}{1-r}.$ 

Thus  $\lim_{n,m\to\infty} p(x_n, x_m) = 0$ . That is  $\{x_n\}$  is a Cauchy sequence in the metric space  $(X, p^s)$ . Since (X, p) is complete then from Lemma 5, the sequence  $\{x_n\}$  converges in the metric space  $(X, p^s)$ , say  $\lim_{n\to\infty} p^s(x_n, z) = 0$ . Again from Lemma 5, we have

$$p(z,z) = \lim_{n \to \infty} p(x_n,z) = \lim_{n,m \to \infty} p(x_n,x_m) = 0.$$

Assume that z is not a common fixed point of S and T. Then by hypothesis

$$0 < \inf\{p(x, z) + \min\{p(x, S(x)), p(x, T(x))\} : x \in X\} 
\leq \inf\{p(x_n, z) + \min\{p(x_n, S(x_n)), p(x_n, T(x_n))\} : n \in \mathbb{N}\} 
\leq \inf\left\{\frac{\alpha^n}{1 - \alpha}p(x_0, x_1) + p(x_{n-1}, x_n) : n \in \mathbb{N}\right\} 
\leq \inf\left\{\frac{\alpha^n}{1 - \alpha}p(x_0, x_1) + \alpha^{n-1}p(x_0, x_1) : n \in \mathbb{N}\right\} = 0$$

which is a contradiction. Therefore, z = S(z) = T(z).

If v = S(v) = T(v) for some  $v \in X$ , then

$$p(v,v) = \min\{p(TS(v), S(v)), p(ST(v), T(v))\} \\ \ge r \max\{p(S(v), v), p(T(v), v)\} \\ = r \max\{p(v, v), p(v, v)\} \\ = rp(v, v)$$

which gives that, p(v, v) = 0.

**Corollary 2.** Let (X, p) be a complete partial metric space and let  $T : X \longrightarrow X$  be an onto mapping. Suppose that there exists  $r \in [0, 1)$  such that

$$p(T^{2}(x), T(x)) \ge rp(T(x), x)$$
 (2.8)

for every  $x \in X$  and that

$$\alpha(y) = \inf\{p(x, y) + p(T(x), x) : x \in X\} > 0$$
(2.9)

for every  $y \in X$  with  $y \neq T(y)$ . Then there exists  $z \in X$  such that z = T(z). Moreover, if v = T(v), then p(v, v) = 0.

*Proof.* Taking S = T in Theorem 2, we have the desired result.

**Corollary 3.** Let (X, p) be a complete partial metric space and T be a mapping of X into itself. If there is a real number r with r > 1 satisfying

$$p(T^2(x), T(x)) \ge rp(T(x), x)\}$$

for every  $x \in X$ , and T is onto continuous, then T has a fixed point.

*Proof.* Assume that there exists  $y \in X$  with  $y \neq T(y)$  and

$$\inf\{p(x,y) + p(T(x),x) : x \in X\} = 0$$

Then there exists a sequence  $\{x_n\}$  such that

$$\lim_{n \to \infty} \{ p(x_n, y) + p(T(x_n), x_n) \} = 0$$

So, we have  $p(x_n, y) \longrightarrow 0$  and  $p(T(x_n), x_n) \longrightarrow 0$  as  $n \longrightarrow \infty$ . Now,

$$p(T(x_n), y) \le p(T(x_n), x_n) + p(x_n, y) - p(x_n, x_n) \longrightarrow 0 \text{ as } n \longrightarrow \infty.$$

Since T is continuous, we have

$$T(y) = T(\lim_{n \to \infty} x_n) = \lim_{n \to \infty} T(x_n) = y.$$

This is a contradiction. Hence if  $y \neq T(y)$ , then

$$\inf\{p(x,y) + p(T(x),x) : x \in X\} > 0,$$

which is condition (2.8) of Corollary 2. By Corollary 2, there exists  $z \in X$  such that z = T(z).

Now we give an example to support our result.

**Example 3.** Let  $X = [0, \infty)$  and  $p(x, y) = \max\{x, y\}$ . Define  $T : X \longrightarrow X$  by T(x) = 2x.

Obviously T is onto and continuous. Also for each  $x, y \in X$  we have

$$p(T^{2}x, Tx) = \max\{4x, 2x\} = 4x \ge r \max\{Tx, x\}$$

where r = 2. Thus T satisfy the conditions given in Corollary 3 and 0 is the unique common fixed point of T.

**Corollary 4.** Let (X, p) be a complete partial metric space and T be a mapping of X into itself. If there is a real number r with r > 1 satisfying

$$p(T(x), T(y)) \ge r \min\{p(x, T(x)), p(T(y), y), p(x, y)\}$$
(2.10)

for every  $x, y \in X$ , and T is onto continuous, then T has a fixed point.

*Proof.* Replacing y by T(x) in (2.9), we obtain

$$p(T(x), T^{2}(x)) \ge r \min\{p(x, T(x)), p(T^{2}(x), T(x)), p(x, T(x))\}$$
(2.11)

for all  $x \in X$ .

Without loss of generality, we may assume that  $T(x) \neq T^2(x)$ . For, otherwise, T has a fixed point. Since r > 1, it follows from (2.10) that

$$p(T^2(x), T(x)) \ge rp(T(x), x)$$

for every  $x \in X$ . By the argument similar to that used in Corollary 3, we can prove that, if  $y \neq T(y)$ , then

$$\inf\{p(x,y) + p(T(x),x) : x \in X\} > 0,$$

which is condition (2.8) of Corollary 2. So, Corollary 2 applies to obtain a fixed point of T.  $\hfill \Box$ 

#### References

- I. Altun and H. Simsek, Some fixed point theorems on dualistic partial metric spaces, J. Adv. Math. Stud. 1 (2008), 1–8.
- [2] I. Altun, F. Sola and H. Simsek, Generalized contractions on partial metric spaces, Topology and its Applications 157 (2010), 2778–2785.
- [3] I. Altun and H. Simsek, Some fixed point theorems on ordered metric spaces and application, Fixed Point Theory and Appl. (2010), Article ID 621492, 17 pages.
- [4] I. Beg and A. R. Butt, Fixed point for set-valued mappings satisfying an implicit relation in partially ordered metric spaces, Nonlinear Anal. 71 (2009), 3699–3704.
- [5] M. H. Escardo, *Pcf Extended with real numbers*, Theoretical Computer Sciences 162 (1996), 79–115.
- [6] B. Fisher, Fixed points on two metric spaces, Glasnik. Mat. 16(36) (1981), 333–337.
- [7] B. Fisher and P. P. Murthy, Related fixed point theorems for two pairs of mappings on two metric spaces, Kyungpook Math. J. 37 (1997), 343–347.
- [8] R. Heckmann, Approximation of metric spaces by partial metric spaces, Appl. Categ. Structures 7 (1999), 71–83.
- [9] E. Karapinar, Generalization of Caristi Kirk's Theorem on partial metric spaces, Fixed Point Theory and Applications (to appear).
- [10] S. G. Matthews, *Partial metric topology*, Proc. 8th Summer Conference on General Topology and Applications, Ann. New York Acad. Sci. **728** (1994), 183–197.
- [11] V. Popa, A general fixed point theorem for two pairs of mappings on two metric spaces, Novi Sad J. Math. Vol. 35(2) (2005), 79–83.
- [12] S. Oltra and O. Valero, Banach's fixed point theorem for partial metric spaces, Rend. Istid. Math. Univ. Trieste 36 (2004), 17–26.
- [13] S. Romaguera, A Kirk type characterization of completeness for partial metric spaces, Fixed Point Theory and Applications (2010), Article ID 493298, 6 pp.
- [14] O. Valero, On Banach fixed point theorems for partial metric spaces, Appl. General Topology 6 (2005), 229–240.

Shaban Sedghi

Department of Mathematics, Qaemshahr Branch, Islamic Azad University, Qaemshahr, Iran

 $\textit{E-mail address: sedghi_gh@yahoo.com, sedghi.gh@qaemshahriau.ac.ir}$ 

N. Shobkolaei

Department of Mathematics, Islamic Azad University, Science and Research Branch, 14778 93855 Tehran, Iran

 $E\text{-}mail\ address: \texttt{nabi}\texttt{-}\texttt{shobe}\texttt{Cyahoo.com}$